Mame:

[ Distributive Property ]

Choose the correct choice equivalent to the statement.

Score:

1) 5Xx3+7)=

B, 11 x3x7
C. 11+3x7)
D 11 +3x11+7

| Correct Choice: D

B, 94+13x9+4
C. 9x13+9x4
D. 9+ (13 x4)

Correct Choice:

| 2)12%x(4+2) = 3) 6X(9+3)=
4. 5+ (3 x7) A 12X4+12x2 A 6+9%6+3
B. 5+3x5+7 B. 12+4x12+2 B. 6+ (9%3)
1 C. 5xX34+5x7 C. 12+ (4 x2) C. 6X9x3
1 D. 5 x3x7 D, 12x4x?2 D 6Xx94+6x3
i Correct Chaice: D Correct Choice; [j Correct Choice: D
5y 8x(6+4) = 5) 2% (945) = 6) 7x(14+2) =
1l A. 8x6x4 A 2X9X5 A 7+14x7+2
il B. 8X6+8x4 B. 24+9x2+5 B. 7+ (14 x2)
i C. 8+(6x4) C. 2+ (9x5) C. 7X144+7x2
1D 8+6x8+4 D.2x9+2x5 D, 7x14x 2
Correct Choice; D Correct Choice: D Correct Choice: B
|7y 11X (3+7) = 8) 9x(13+4)= 9) 3x(6+4+8) =
g A 11 x3+11x7 A 9X13x4 A. 3+ (6x8)

B, 3X6+3x8
C. 3+6%x3+8
D 3xXx6x8

Correct Choice: B

10) 4%x(12+5) =

A 4 x12 x5
B 4+12%x4+5
| C. 4x12+4x5
| D. 4+ (12x5)

Correct Choice:

11) 13xX2+8) =

A 13 x2x8

B. 134+2x13+8
¢. 13+ (2x8)
D. 13x2+13x8

Correct Choice: D

12) 10x(7+4)=

A 10X 7+ 10 x4
B. 104+7x10+4
C. 10+ (7 x 4)
D. 10x7 x4

Correct Choice: B

l 13) 7x(9+6) =

Il 4. 7+ (9 x6)
W B. 7x94+7x6
. 7T+9xT74+6
D, 7x9x6

Correct Choice: D

14) 15X (3+8) =

A 154+3x15+8
B. 15 x3+15x%8
€. 15x3x8

D. 15+ (3 x8)

Correct Choice:

15) 5% (6+14) =

A 54+ 6x5+14
B, 5x6x%14
€. 5+ (6x14)
D 5x6+5x%x14

Correct Choice: B




Name:

{ Use distributive property to solve the multiplication problems.

[ Distributive Property ]

Score:

ES 8x(5+7)

= X_J+(

2) 11 x(8+2)

=( X )+ ( X

3) 9% {(3+5)

)= x ) +(

6) 5% (7+14)

= (XX ) =X )+

= (X +(
| = +
7y 2%X(9+5)
| = x_)+¢
= +

8) 13X (8+5)

9) 10 % (8 +6)

=X+ (X)) =% )+

= + o

= +

o= x__)+(

1) 9x (2+5)

12y 5 X (12 + 7)

=X )+ x_) | = _x_)+(

= -+ =

I =(__x_ )+(

14) 2% (154 9)

=X )+ (X)) =X )+ (

= X_ )+ x_) | =(_x_)+¢(

= X_ )+ x_) | =(__x_)+(




